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%, Introduction and Background.; -

' Underutilization of installed machinery and equipnié'rif:mi'h'fy'pi-: »

cally capital-poor less d‘e{;é;iapec‘i- countries (LDCs) is a widely-observed
paradox which has planning and policy implications for output growth,
I LA R I SR YR S enl i ke
employment and other LDC objectives. Policy efforts to increase the uti-
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lization of existing industrial capital, if sucééssful; ‘could raise pro-
ductivity in the manuifac’tprih'g!_ sebtor, reduce average and incremental

capital—output ratios, generate additional employment o'pportunities‘ and
" expand more rapidly”industrial output (hence, disinflationary) at lo

soclal costs (cf. 715 7). The
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payoff assumes greater importance once

*This paper is part of the final report on a research project of
the National, Economic.and Development Authority and the author unders::
taken in collaboration with a larger World Bank study on industrial
capital utilization involving four developing’courtries o Views akpressed’
in the paper are, however, the sole responsibility of the author, Thanks
are due the numerous persons who assisted in the survey-interviews, of '
which the following deserve specific mention: R. Bacani, R, Carreon,

B. Diokno, R. Fabella, M, Fernandez, S, Hamoy, L, Laiz, C. Padua

and M, Songco. Several other graduate students also participated in

the survey during the semestral break in October-November 1973, We
‘gratefully acknowledge the cooperation of owners, managers, accountants,
and gt‘hie;‘ri_plfﬁgia,‘ls of sampled establishments in granting the interviews. ..
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industrial planning and- promotion procedures seek constarftly to improve

the utilizati.on of capital investments.

Benefits to be expected from increased capital utilization are
premised on the recognition that the capital input in ‘any production func-
‘tion constitutes a service flow which is determined by the amount of
installed capital and its utilization rate. Thus incmasing cap ftal utili-
zation is substitutable to capital accumulation. This may be illustrated
ueing the standard two-factor Cobb-Douglas production function with a

: technological progress term |
_; m. R Yy = o xta* L""Z

i‘.

where Yt Kt 4|d Lt represent rates of flow at time t of output,
capital services and labor se'vices, respectively, | aO 1s the (constant)y

rate of disembodied technical change- and a:l and az are the capiml -
and labor service elasticities of output, respectively, - Since- Kt is the
product of the capitai stock Kt and utilization rate Ut . differentiating

| the logarithtns of eqtn, (1) with respect to t yields an expression for the
growth rate of output ry as f.ollows. 3 :

A
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where ’r ', r- and T denote rates of change in utilization, capital

-
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stock-and labor se}_r"v;ices-.,.,respectively. b

eqn (2) provides the basis of aggregative sources-of-growth
::studies pioneered by Solow and Denison, except that the effect of inter-
temporal changes in the capital utilization rate is frequently left out in
thé analysis. That ru might be an important consideration is well
demonstrated in the work of ]‘orgenson and Griliches [ 8 _7 on U S .
manufacturing, which obtained re-estimates of capital productivity -

.
challenging the Solow and Denison figures.

¥ Similarly,: studies of po'stwar Philippine gconomic growth, e.'g.
[_'10_7 and [lllj g‘have generally -ignored the effect of possible changes
in industrial capita? utilization on the growth of manufacturing output.
One notable exception is. the Power-Sicat study on.Philippine industrial-
ization and trade policies, which hypothesized "that decoritrol " permitted
a fuller utillzation of resources " [ 2 p.57_7 accompanying the observed

improvement in resoume allocation. On the other hand the present

E ~‘-w ra.c
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: writer has tentatively concluded that excess industrial capacity increased

from 1961 to 1969 [3_7 . which conclusion however was based on certain
- *.. ’5‘7 T : _‘;_‘ . T -
restrictive assumptions and very aggregative data. _ :
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L Recent e‘xnpirical findings on levels and trends of tndustrial

‘capital utilization in other,scounn'iesf'app‘ear’ to suggestwo thihgs "(l) '
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there is substantial underutilization ‘of capital stock in both developed
and developing countries, and (2) observed changes over time in the

" utilization level vary significantly from country to couniry. Poss [7 _7
Co P © Bl Nl f.:" Rt
has es_timated that ex.isting indust_ri_al capital in the United ,States was

being operated at about 21 per cent in the mid-1950s. In the I.DCs,

Winston [15 _7 has necently given an estimate of 14 per cent for West

. ’Pakistan ‘ Kim and Knron _[9_7 about 17 per cent for South Korea, and

| Thoumi ﬁ3 Ja relatively Jhigh estimate of 30 per cent for Colﬂmbia

In regard to changes in capital uti.lization rates, Foss' study indicates |

. an‘increase for U,S.. manufacturing from 15. 2 per cent in 1939 to 20,9

1 per. cent in 1954‘. The average utilization rate in South Korean manufac-

wr!ng indusirie has been estimated to dbuble over 1962~197%, while
"iml'ndia observed changes in theé-lavel of uti.lization from 1961 to 1970
.. have been.insubstantial £117, 007

Although these estimates are not exactly comparable, they all
'purport to indicate the proportion of time that installed capital equipment ;

;.“and machinery were being operated on the average. This represents a

: ‘departune from the usual measures of capacity utilization shaped by

developed countries concem with business ﬂuctuations and national .

income forecasting The utilization measures -adopted (e.g. by McGraw-

Hi and the Wharton School) reflect the deviation of actual utilization.




£5in the desired (intended,expected) lovel —- without specifying the
latter i absolute terms. x fuller use of existing capital is deemed
sOcially desirable in the LDCs, development planning and policy should
~ be concerned not only with correcting the divergence of actual from
desired utilization but also with raising the latter by the removal of |
obstacles and/ or provision of incentives so that intended capital idle-
ness s’ minimized Such distinction is significant in view of the emerg-
ing evidence that anticipated capital idleness represents the more important ‘

contribution to the observed excess capacity even in the LDCs.

There is a§ present no available information an the time utili~
zation of capital equipment and machinery in Philippine manufacmring
for any year. Indeed, apart from the survey for 1961 conducted by the
" present writer [2_7 several vears ago, there has not been any compre-

hensive primary data-gathering and publication relating to industrial |
"capital WHtlfzation (however measured) in the Philippines. In exploring
the scope for economic policy in influencing capital utilization, it |
WOuld seem necessary to establish first an adequate data base which‘:“-
may then bo analyzed in the light of theory and prevailing policies. o
Such need for a capital utilization survey of Philippinemanuiajcturing |
industries has been felt and expressed previously B_] . but plans to |

It Ll Sion T e 2

"un“dertake one have not materialized
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S The NEDA-World Bank survey on Philippine manufacturing $as
‘one of the first full-scale attempts at collecting detailed. capital utili~
::7zation data by direct interviews with plant managers, &vhich'.weref done

from mid-October 19 73 to Pebruary 1974, Simfilar surveys were being
conducted at about the same time in three other developing countries, .
: _yj,z, .- Colombia Israel and Malaysia . in which the World Bank had also
'closelr ccﬂahoutad Preparations are cun'ently underway for the forth-
: coming publication of a Worid Bank monograph, "Capital Utilization
’in Manufacturing in Developing Countries, which will include chapter
‘ contributions from principal investigators in the four country studies
‘ analyzing the su:;vey results and drawing implications for development

muay i i

When the study was being planned 'no othm‘ studies had been
done using the interview method to. obtain comprehensive information on
industrial capital utilization in the LDCs. Since then two other inter-
view surveys have been undertaken. :One was reported in a recently
isubmitted Ph.D, dissertation at the: Massachusetts Institute of Tebhno-
lcgy [l 73 1t covered 121 manufacturing firms in Kenya. The other
study is still in progress, invplving several ecuntries in Latin America,
. under the direction of a research group headed by: meessor Rosenstein- -

Rodan at the Center for Latin Ametican Development of Boston University.
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In comparison with the present investigation these two studies cover a

narrower range of utiliza’i:ion-re‘latedvariables.‘ e

The necessarily large budget entailed in survey interviews

would seem to be the principal reason for the use of mailed questionnaire

i

surveys and published data in all previous studies of capital utilization
in the LDCs. ’.l‘he experience with mail surveys conducted in the LDCs

l J

has been that the questionnaire must be very brief to have any chanoe

of being completed Using a one-page questionnaire soliciting utilination—
nelated data easily known to production managers, the above-mentioned :
survey on 1961 capacity utilization in Philippine manufacturing yielded

a 35 per cent respoﬁse rate despite the use of facilities of the Bureau

of the Census and }tatistics.

Reliance on published data in the study of industrial capital

-+ utilization s also ‘subject to certain disadvantages. For one thing,

'information gathered ‘by annual. surveys of manufactures and periodic
- Censuses do’not really provide,conceptually- 7alid: measures of the uti=

. Hzatlon of existing capital, The electeicity~-based measure, which s

‘ \tetv popular, represents actually the extent of utilization of installed:

- electrid: motors ,; recent evidetice VA3 _7 suggesting:that it substantially
understates capital utilization, Moreover, published data ‘are: irwarlably

presented in the aggregate by industry, limiting the scope for the




~ explanation. of lint_erplan,t;vaniaﬁon in--vutilizaticﬁ Tates, -~

use of ‘mall. survey. or .published data; interview Studies provide oppor-
. tunities for collecting more reldable and det'aile’d information that could
.meet,tﬁe: requirements of an acceptable.measure of capital utilizatioti,-
get at the important.reasons for plant underutilization, and inform. dewié-
logme’_nt polici_es.intended uo _c_hanoe firms!-utﬂizaticm practices; The -
practical knowledge and insights to be gained from visiting ‘industrial
Plants and talking with production managers 'should serve to enrich: dHy
study of capital utilizaticn

I, Survey‘ Mef.hcf‘lology
A, 1;Sampygg?‘;- R

The population consists of manufacturing establishments employ-
ing 20 or more workers in 19 72 the year for whlch survey data were soli-

y
cited There was simply no way of obtaining a complebe list cf establish- '

A 4

mebits classified by the Buneau of the Census and Statistics in its annual

r‘ . .,‘ ¢
surveys as’ small " (employing less than 20 workers). Not much is lost,

ay

‘however, in concentrating on the "large " subsector of Philippine manu-

facturing since it accounts already for about 95 ber cent of total value

il

S S N .
D N M .- (P




‘ added and value of. fixed asgets in organized manufacturing R com-

prised of establishments with 5 or more workers,

From this population a stratified random sample of 400 estab~-
| lishments was selected. Stratification was done to the 4-digit ISIC
}f»level ‘. the number of .sampled establishments in each 4-digit industry

determined by the indusu'y's relative contribution to manufacturing value

added in 1969 (the latest year.for which value added figures are available

to the 4-digit level).. Sampling was random within each 4-digit industry
with no limltations on firm size and ‘geographical location. An additional
featurce of the sampling procedure was- the random selection of "reserve "
establishments equaliin numbér to those in the main sample for each
industry (if there ex#sted sufficient establishments) to replace possible |

cases of non-response, preserving therefore randomness of the final

Tadsl SURRI T TR AP

sample. The‘se reserves were drawn upon during the field work in the
order of their selection as indicated in the reserve list for each 4-digit .

industry.

. The allocation of a: predetermined number (400) bf sampled h
estahlishments to the. different 4A=digit industries according to the latter‘
| Value.}?gded_;contz;ibutionv_is of course inferior to havitig the industrial -
sampl)ev_‘weights‘ de\?,emdne,dxbythe. relative ‘amounts of the indn;stz'ies"""

capital -,a.s Sets _g;;._ After all, the intent of the study is'to Investigate the

i

. -
[
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, utilization of industrial capital. But reliable capital figures were not
,available when the sampling was done, and use of valug added was

resorted to as a second-best solution.

Two difficulties were encountered in trying to . apply. the sampling
procedure uniformly to all industries. Firstly, there were cases in which
the stratification required less.: than three firms to be- ‘sampled in a 'given

igit sector mecause the 4-digit: industries within it weére not suffi-
ciently important contributors to total manufacturing value added).
' ,was decided that the ‘sample should be brought up arbitrarily ‘to: three
for the sector to facilitate generalization to the populatlon of that:sec~:
tor. Leather plioducts (ISXC.323), pottery (1s1IC 361) and scientific:

‘equipment (ISIPSBS) were some such sectors, . « .- - e

The other extremec'ase. ﬂth’a‘f'c” largewcalc iadnstxies, ;:resented
another problem that was not anticipated in designing the sample. A y
»few 4-digit industries (sugar milling, petroleum refining and cementh‘
manufacturing) were such heavy contributors of value added that the | Y
| sampling procedure required more firms than the actual number of estab~-
lishments in the population, This diff:iculty was handled by including
all firms in the indgei:ry:»sample and then. using the Jeft~overs to' "] .

in" the -small-scale 'sectors up to three.as des.c:i:ibed;above'; any excess:

being distributed -RIQ. Iatg over the whole. sample according,to the: original
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- procedure. Not all firms in these industry categories responded tothe .
zvjsurvey, resulting in our having even fewer sampled esmblishments

‘compared to the required number for these industries,

el

B.. Survey Questionnatre and Intarviews
A commen questionnaire was' adopfed with the three other survey
studies in the countries’ involved It was developed over a period of
. several months-on a collaborative process among the principal investi-
gators, including the- pre—testing of a prelhnfnary version in each country.
The final survey questionnaire and inatructions which form the basis of

the interviews are rgproduced in Appendices A and B below. o

e o] [ o %

'!l;h.e measure of capital vutilization agreed upon at the outset is
one that would reflect the proportion of time and intensity of operation
of installed machinery and equipiiont (cf. [Z 7 Y. kems 2, 3 “and 3*
in: the questionnaire are therefore the basic questions asked in the inter-
views with- production managers and other officials in the sampled es-
tahlishments -‘The’ computation of thé’ plant's t:lme and intensity capital
utiuza‘ticm is: based on the résponse to these questions (cf. last two .
pages of the quéstionnaire form), “The rest of the’ questionnaire seeks .

detailed information on ‘plant characteristics, seasonal pattern of utiii-

zation, work hours, labor payments and productivity, other inputs,
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product demand variations, market su'ucture, perceived excess capacity

‘and reasons for plant idleness. These are intended to shed light on the

influences on plant utilization in later analysis of survey findings. o

eior

The field work for the survey spanned apenod of 4-1/ 2 months
but most of the interviews were done from mid-October to mid-December
,:__,1973. The delay.in complelng.the survey by the end of November (as
' planned) was. caused by the.increasing reluctance of plant.managers to

be distu;bed for interviews as the holiday season. was being appﬁoached.

. -fOn8 lesson for similar interview surveys in the future is~that=seasenal
periods of peak production should be avoided-;) Moreover. Y strenuous -

| e'fforts; nece,ss,irily ti:ne-sconsum’ing; ‘were beind made to cover:as many
of the establisl’énents as possible in industries that required full represent-

ation in the sample. e

Although a large number of "reserve" estabiishments had to ‘be

. used there was a general willingness of firms .to grant interviews, This
‘cculd be attributed, perhaps in large part, to-the martial law-‘s'ltuation‘ '
and the covering letter signed by the. NEDA: Director-General endorsing

our survey which.the presidenf/ general manager: <of each sampled firm -
’received together with a copy of the questionnaire abcut two weeks

inradvance of the proposed interview date. A telephone call ‘from the

interviewer wouid follow up the letter to finalize the appointmant with -
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the---pfodustiqn managers = ol oo ‘. P Do e ~ o

R . el S
B AL RO ferrored

What caused some inconvenience and delay in the survey was '

, the high incidence of sampled establishments which (a) could not be |
reached due to incorrect address or that the firm had stopped operation
(56 cases) or (b) were engaged ln non-nanufacturing activities e.g.
services, distribution and sales (15 cases) Six firms situated introubled
a.reas in South Mindamo were al.o dropped Prom among those that
we were able to contact, roughly 6 5 per cent agreed 'to"‘grant the inter-
view at the proposed date, 27 per cent asked for postponement and were
interviewed eventually, and the remaining 8 per cent either refused T

| outri}ght;or kept postponing the interview appointment until we gave up ‘
on them. Survey res:zlt\s; for 9 establishments were discarded due to
inaccurgc;r, inconsiitency and/ or incompleteness of information provided.
It is difficult to judge whether the substitution of responsive firms for
those in the original sample that in the end were ,no_t.included_:,_;had,‘_,_bialsed

the results in any way.

T O TP s : o R F IR AR ST IR TR SRR
SRIe . L dd ot i R . : 5 [ R A R T

o The interview itself lasted approximately one hour in most .

e cpses, although in some visits inter;,ziewers had. to stay longer for in-

, vited plant tpurs,or shorter due. ;p demands on the interviewees time..

;Usually, the production manager in large firms would not be in a position

’

to progide information on sales, value of assets and value added + SO.
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that the acccuntant nad to be consulted too, Surveyenumerators were ins-
tmcted9 thcrcuchlf on how to derive value added from. the firin's

| prcfit—and—lcss statement as it proved to be an unfamiliar .aoncept-gene-

rally o firm officials. Replacement value of capitai is another elusive

item in the questionnaire Because of its. importance to the study;

extra efforts ‘were made o get the estimates of knowledgeahie firm -

officlals;. failing to do that in several cases,, relevant plant data were,

_ obiain;ed for ‘_tAhe ‘estimation of capital ‘replacement; values. ;(as,sumin_g%,

; QAMPHne depreciation) + Survey.data on sale's and, book' value. of'

assets of sampl,ed estabiishmenus Ancluded in the-top. 1000 ccrporations
in. 1972 as compiied by Business Day were checked against published
information and !ound to be generally comparable. - Other dtems in the
,questionnaire a’peared to have been handled satisfactorﬂy for the 400 -

establishments that made At ;to.the final- sample.
C. Coding and Pnnching o

Questionnaire coding was done on the basis of the specifications . {
agreed to (with some additions and slight revisions described below) in

the ]’anuary 19 74 seminar at the World Bank among the ptincipal investigatcrs

o in the four countries involved. I-‘or each of the 400 establishments of the

final semple, a totai ot 105 "bits of information were coded punched

,into six computer cards, verified and transcribed in a magnetic tape
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for data processing. Altogether, therefore, 42,000 "bits " of informa- '
tion on 2, 400 cards served as basic data input to the analysis part of

S e

the Philippine study.

Columns 1 to 101 cf the coding scheme shown inAppendix
. C are common to the four countries, revised only slightly according to
| individual countzy requirements. In the Philippine case, two things
warrant specific mention. One is that quantitative information on fringe
benefits of employees had‘ not been obtained from the survey, entries ‘
for Column 76 were based on the ratio of fringe benefits to total payroll
fmm the Mﬂmuﬂ_mmum by 4-d1g1t ISIC 1ndusuv.
which turned out to;be very low (3 to 10 per cent) and ‘were not uSed in
the subsequent andlysis., - The »ether ‘concerns the tre_atment of wage
differéntials in Columns 65-70, For:plants that.did not operate night
sh'ifts;' overtime or weekend (Sunday) work, Columns. 65, 67 and 69
~were left blank aninstructed 3 however, instead of leaving blank:Columns
" 66 , 68 ‘a-nd 70 fal's‘or,‘average' percentages of respective wage differentials
.to the'basic daily -wage '~rates An-the-4-digit. indﬁsu:ie.s_@ were entered, This
- facilitated the comparison of wage premia: ampng- plants -= on the assump-~
+¢ tlon-that theiindustry’s average wage differentials apply.to the establish-
ments which could not furnish.the informationbecause; they.did not operate

night shifts, overtime or on Sundays. Not making this adjustment would
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have meant in subsequent data analysis that these plants were fac.lng

zero wage premia

The remaining "b:lts " of information described in Columns 102~

105 of Appendix C were added as supplementary data for use 1n the

regression analysis of the determinants of capital utﬂizatlon in thppine
' manufacturlng, which is reported in [5_7 The estimation of the annual
cost of ownlng capital (cf Column 102) is discussed in the same. paper.

‘ The entries in Columns 103-105 are self-explanatory. |

I, Sample Charaoteristics and Other Summaxy Data :
. For. p\}poses of mtercountry comparison summary data’ tables

have been prepared that aggregate most of the survey findlngs on the

sampled establ.tshments at the 4-digit and 3~digit ISIC levels and the

5 -_.-_entire manufacturing sector for each of the four countries. Thave pre-

. isented a:small part of the summary data for'the Philippine study in [%_7
..8ince they comprise a bank’ of entirely original data on Phﬂlppine manu-

£actnrlng industries which i complete form might also be of interest to

- others, the contents of thess sil

tahlas are desdribed below. Any
--data given in these tables can be’ provided by tne author on request.
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3L DESCRIPTION OF SUMMARY TABLES

- NOTE: Numbers in parentheses refer to the coditig form éolumng, In'’

‘most tables there are three sets &f/data’ ~= &t thd §=aigit, 3-dgte

N

Tavimle 2500 oo o i et a aplsy o 2
and country levels, v \oi Sjnamien e el A sy

TABLE 1: Characteristics of the Sample

. T oo b cee N
oD ety - eI atics o iy

1., ISIC Number (6) R VN VB
2. Number of establ’ishment’s-sampled SN el s b g
3. City size (3) - meanr “s8d . deviation “roos < e Jeslg=fi

4. Quality of interview (5) - mean, stl. dev. oitr I T st
5. Product concentrgtiorr percent sales represented by major product
(7) - mean; std dev. - TP

: . P B ,'*:‘ .vﬁ.
e SURT TSNS R A )

'6. Single product ants - count number of plants less mumple product
plants N~ (9)), e

Expons of major product (ISIC product above)»as per cént” “mean'
- std.. dev.,

EEREE TR
e ComEdnbe . : ER IR AN L BEI
i

. 8. Exports of second product as percent - mean _ std dev.

| :9. Tetal employees - count, report number for 4-d1g1t, 3-d1g1t, country.

- 10..;Average employées/ firm -~ compute 9../M. std.. dev“ '

11, Total production employees - count.

12. Average production employees/ ﬁrm compute 11/ N std dev.(_

13. Total sales - count. , R



; vm“'“_;*?' 20 oI 18
14, Average sales/ flrm compute 13/ N, std. dev
15 Total value added cou_nt - o
16 VAve value added/ flrm oompute 15/ N std dev_. ,
17. Total value of capital count |
18. Value of capital/ﬂrm compute 17/N, std. dev.
l9 . Average age - mean, std. dev

20. Multl-plant flrms - count those reporting more than 1

21. Multl-plant firms - count those reporting more than 2

’ TABLEII ..Utﬂjzauon- N .

1. Plant Utﬂizqt;lon, qanj,mweights - questlonnaire Col (47) welighted
" by questiognatre col. (18). Report mean, std. dev. and tast on
siqniﬂ -of the difference from the country mean A '

2. Plant utﬂlzatlon, empmzmgmwelghts - questionnatre Col (47)
+ waighted by questionndire col. (13). Mean, std. dev ' signlﬂcance
of di.fference from country mean.

3. Plant uttllzation, Wweights «Col. (47) weighted by Col. (17).
- Mean, std dev . slgniﬂcance of dlff nce from countly mean.

4. Plant utlltzation, W ‘mean, standard devlation, slqniﬂcancq
~ of difference ‘fronr- country mean.
' NOTE that the averaging from 4- to' 3-digif’ lndustrfes is to bbby value
" of m ﬁb‘ardless of the method of | agyreg N

gectors.




TABLE ITI Ownership and Manageme\nt |

1.

TABLE IV Time Patterns of Utilization .

19

Ownership type - frequency (express each reported type as a per=
centage of total reporting).

Ownership nationality ~ frequency
Ownmership legal form - frequency

‘Management nationality - frequency

Management ethnic groups - frequency

1. Hours/day typidally operated - mean, std, dev,. .
2, Days/year typically operated < mean, std, dev.
.3. Section schedulgs different over year - count Yes/ No e
4, Of those with J-xeven schedules (Yes to (48) ave. days/wk peak(50)
- mean‘ Std deVQ » R R TR
.\f ""T . oL . R W T [N
5. Of those with uneven schedules (Yes to ave. days/wk trough (55)
o -mean, shd dev. - ‘ ) P
6. Of those with uneven schedules (Yes to ave, hours/day peak (Sl)
-mean, stgl dev. R Ve e o b
7, Of those with uneven schedules (Yes to ave, h__oqrs/ day trqugh (56)
e mead std. dev.‘ T, p I
8. Peak month frequency; count (49) in each of ‘the twelve months.
9. Trough months™“ frequency: count (54) in each of twelve months,,
10, How many shut down - count Yes/No (59,).,_? .
11. How long shut down mean, std dev.

oo
LAC TR B : . ,_, _3,

‘
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Shut-down costly - Yes/No-céunt © - = -~ Ide EEE

0 . .

mBLE VLabor ",| T 'f ~." T . uk - A

1.

2.

3.

_.in (69) 7

Ly Isdes o gt

Average workday per worker (61) = mean, std'Cdev.,
Average workweek per worker (62) = Tmean, std.- dev.,
Wage scheme (63) - frequency each type as % total, -

Wage rate per hour computed (as in notes on Jan. meetihg) in domes~
tic currency ~ mean, std. dev.

L

Night shift premium (65) - Yes/No count

Night shift premium (66) as percent hourly wage rate (compute) -,
mean, std. dev. (computed only for Yes In (65), of course),

Weekend wage premium (67) - Yes/No count
£ ' : - R N ORI cete
Weekend w?;qé premium (68) as percent hourly wage rate (compute)

. = mean, sfd. dev, [again, only f?f.?,[.‘.’_‘s_il.‘.@?),

Overtime wage premium (70) as percent - mean, std. dev. [for Yes

Fringe beheﬁts ~ count number Yes under ea‘éh'heading‘;’ Col. (72)

. to (75)

11.

127

13,

Fringe costs as percent hourly wage rate ~ méa'n,‘ Std. dev.

Créw size day/fight, compute /{77) - (76) 7/ (77) ;whiéhiﬁivés the
difference between day and night crew size as & percent of day

~ crew - mean, std, dev, . .

Labor productivity (79) - frequencies, each category,
P IR S S S T VB L T

S Lh I T R U

- TABLE VI Factor Proportib’ﬁ's

1.

Factor proportions computed {18)/ (77)“; ihéah,“ std. dev.
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TABLE VII Material _Inputs

1.

2.

Imported 1nputs percent (80) - mean, std dev. o

Rhyuhms. input/ price count Yes (any non-zero entry ln (81) or (83))/
No (zero entries), = | ; |

Cost rhytms percernt compute (8'1) times:{82) <'rivan, ‘std. dev. -

Materials unavailable (85) - Yes/ No cotint- - =

Shut: down when: unavailable - of those who answered Yes to (85)

count yes/no. -

In'véhtéryxwhen tnavaftable = of those who answered Yes to (85) -

" count yes/no.

TABLE VIO "Capacity"

.}.
2.
3.
4,
S.
6.

7.

Percent of cTcity operated last year (88) - mean, sbd dev. .

Normal hours/ k of operation (89) - mean, std, dev.

Is "normal" sameas full capacity (90) -'Yes/ No, count

If yes to (90), normal hours - mean, std. dev.

Expect to operate normal in future (91) - Yes/No count

Ifyes. 91 and Yes 90, average normal hours - mean, std. dev.

If operation less than normal, reason - these were to have been

listed in order of importance, so take first three columns -~ most
important three reasons - and do separate frequency counts for the
seven possible reasons for each., So there will be three separate
frequency distributions among the seven possible reasons -~ one 4
showing the most important; the next showing second most important;

. the last showing third most important,



TABLE IX ’P-roduct Demand Variations

1' Storage time in days (computed from (93)) - mean, étd Vé .

Z
3.

4,

_ 5

6.

‘

Yearly demand stable (94) - Yes/ Nb count
If (94) No, petcent change - mean,, std,. dgy. :

If (94) No, 1s pattern regular - Yés/No count. |

. If (94) Nam (96) Yes (pattern regular), pattern ~

pattem

'TABLE X Market Structure

1.
s 'z'.'

Number of firms compete with mean, std, dev.

Position thfﬁ firm compute ratio (100)/ (101) - mean, std. dev. -

ooyt

frequency each

; Domestic demand more stable - frequency of four possibilities
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APPENDKX A

GAPITAL UTILIZATION SURVEY QUESTIONNAIRE
0. INTRODUCTION .

" Name of énterpri-se»'»

Address of plant visited‘

i Date' o

Enumerator: -

Respondent (s) Name (s) and Title (s)

.

- .j’ Telephone number:

" We are doing a study of industrial capital utilization partly in

collaboréﬂdn ;fvith”the World Bank which is COnducting suriieys in sevev- :

ral countries. ' We are trying to leam more about‘ pattems of production

AL v

. and, production scheduling. i Your ﬁrm has beenzé;elected as.one of those
1n the study. The guestionnaire should take about palf aim hour or so¢
Your answers will be entirely confidential: ‘»they will appear in the study
only asistatistics and without attribution.” The list jqnf. firms intérviewed

" will not be made. public,
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1. PLANT GHARAGTERISTICS

Product

Total Sales (%) Z_TSIC NO- -
Sales Abroad o

Total Salesi » (%) 5310 No. _

APx“qc_iuct‘ » _ "
Sales Abroad

Product _ _ Total Sales %) [TSIC No. _

Sé\les Abroad

-aejae,ae“& ¥R

“~ Total Pmploy’ees ' » (number)
- Book ¥alue of Assets R (value)
Replacement Value of Assets ' . (value)

~ Annual Sales — S o (value)
Value dded : . (value)

1.3 A 4of‘P1an sent_ cts):
~ Firstbuilt (date) _

“Last major expansion (date) __. . . . If none, is expansi
gradual ? —(egy
_ma_mm_qmm.am;g (in country) owned/operated by same firm? __

Do they produce the same. product.{?) .

'5-1--.‘,5‘7';15'-1rm Ownership: spublle/ i+ private. /. - . mixed‘,/(

domestic/ foreign / c__orp-_oratj.on/ .. - .other/

1.6 Top Magaggmgn; of firm (in country) domestic / | foreign /
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University cf the PLn"ings Systeny
School ¢ 0 v-.mucs Librar

y

Diliman, Quezon City
2. THE LEVEL OF UTILIZATION - TIME

25

2.1 .«How many entire days was the entire plant idle during the last calen-

dar year (365 days) ? (days) report all days idle including

weekends.; holidavs, time
for mmm;msze and r.anana

2.2 ‘So you operated at least a part of the plant during 365 minus the

answer above days? ~(yes/no)
2, 3,\Qumm the typical ,Qp_e;axmg, day, how many hours was the entire
plant idle on the average? -_- - = - (hours) " '

2.4 ‘Soin the typical operating day, you ran some part of the plant for
24 minus the answer to- 2.3 hours? : (Yes/ no)

2. 5 Durlng ‘how many Saturdays did you operate at least part of the day?
o = days) '

2,6 How many hour,s did you typically operate when you operated on
Saturdays? . J ST (hours) -t s T

2.7 Did you have to shut down plant at least pa“ftly‘”'ﬁédauhe"of the July-
August floods? .If yes, for how long ? +yo(days).: '

3. THE LEVEL OF UTILIZATEION - INTENSITY

3.1 During operation, how much of the plant is typically in use ?4 (%)

3.2 Do you operate different parts of the plant ("sections") a different
number of hours per day? (yes/no)

{
3.3 Do you typically operate different parts of the plant a different
number of days per year? (yes/no)

IF THEANSWERTO 3,2 OR 3.3 IS "YES" COMPLETE A SUPPLEMENTARY
SHEET QUESTION 3* FOR EACH SECTION OF THE PIANT THAT OPERATES
A DIFFERENT SCHEDULE
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8% THE LEVEL OF UTILIZATION - SEPARATE PIANT SECTIONS

.},(.'

“'__Th.is sheet“describes the — — _ section

f“S*;i
3*.2

3*.3

3%;4

3;:5 it

%6

sect&on idle on the average? o (hours?

How many’ :days'was the entire section idle during the past calendar

. -year (365 days)? R (days)

So at least part of the section operated during 365 minus the answer

L I days° SRS (Yes/no) A

Rt r'\'i )

During the typical operating day, how many hours was the entire

<

So in a typical operating day, some part of the section operated for
24 minus the answer'to 3*.3 hours? yes/no)"

Check quiestion
During o;fration, how much of the section is typically in use"

What proportion of the plant does this section represent?
(%)
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7 4, THE PATTERN OF ummnoN OVER THE YEAR"'

4.1 Are there periods during the year of ‘more or less operation?
(yes/no) e

4,2 I "Yes , what is (are) the month(s) with the most operating time?
(name of month) Why?

4,3 During that _period, approximately how many days per week does the
plant operate? _____, —(days/week)
, How many hours per day? — (hours/ day)

4,4 Does the plant operate at or.near.that peak level. for mg:g, thén one

| month of the yea:’£ e (yos/ no). How meny? (number).
4,5 What is the period ‘with the least time of operation?
' (hame of monith) Why? S alihorn
4,6 During that periopl, approximately how many days per week does
' the plant opera}e? — (days/ week) .
How many hours per day? — : (hours/ day) BRI & SO
4.7 Does the plant operate at or near that level for more than one month
of.the;year..? — .. {yes/ no) ~How many? ___ (number)
4.8 Does the plant have perfods of full shut-down? e T (Yés/ no) -
How 19.ng.?,. SE—T R 'ff..'f??:f e
When? = o o e {browss outs) e e

Did you 1nc1ude that in estimating idle days- above?

e = s ke ST I

4.9 "‘Is 1t difficult or expensive to shut the plant down and 1nterrupt pro- h
duction for a short period  say 24 hours? (yes/no)

Why? _ . Y

Tt PRI

-




5. HOURS OF WORK ‘
5,1 How many hours per day does a production worker typically work? ____ (hre
5. 2 How many hours per week does a productlon worker typicauy work? _(_hrsj
6. LABOR PAYMBNTS WAGES AND SHIPT PREMIA

Tiy

" 6 1 Are production workers wages determined by
~+  the number of hours they workZ )
| ‘the number of gaz_they work 9l L
thenumber of months" ‘they work’ 9 T e e
.- the-amount of output they produce (piece work) ? |

- 642 For production workers what is (completethe @NE that 1s approprlate to

- 6.1): the average dayt:lme—wage rate______ " & " ‘per day) or
-the average hourly wagerate __._._ . (. . . . per hour).or
o, the gverage weekly wage ___ ‘ ( i POr week) oF,
the average monmly wage _(_ per month)

5

6 3 Are production workers typically paid a hj,g_he; wage for working
: (complete_LL ;hat are appropriate)

during nights % (amount or percentage) | Ea
during Sunday}? —_ (amountor percentage)
overtime ? . oo _(amount or percentage)

| 6. 4 Do! you pay’ other costs for 1abor: -
 food? . ~ (amount - ‘Per worker- -OF percentage of wage)

transport_______ € " e ),
medicalﬁ - ( SR R A R . )
~ lay-off costs? : (amount per werker or-pereentage of wage) : ,,’
: .other (amount per. worker or pereentage of wage) . ‘
- 7e IABOR AND PRODUCTIVITY . Sers B ‘ PR ;o _
7.1 How many production workers are at work in the plant gp_r:l_g a typical
' day shIft? ' (number) \ T U

7.2 Is output per man=hour: @) higher for day wor”k‘?
' " (b) higher for night work ?

o) about the same for both‘?
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8. OTHER INPUTS

8.1 Firms often use inputs and raw materials that are hot produced domes=
- tically. Does your plant use any such inputs? Yes [ _/ No L7
- What . o (name), % .of total inputs (%)
_ What — » : (name) % of total inputs (%)

8.2 Pirms often use things in production whose ms_ymy seasonally or
monthly, even weekly Does your plant use any such inputs?

What - (name) 3 %. price change (%).
% “total’ production cost | (%)
What ___ ' (name) ; % price change (%);

(%)

 Does the plant use any inputs that are regularly mmﬂam during
. parts of the year? . .

Lo total productlon cost

| What? . _/ ' , / - ./ name(s)
'8.31 Does the plant then shut down? L e (yes/no) |
8.32 Does the plant the,n 1nventory that input 7 ______Ayes/no)

" 9. EXCESS CAPACITY } R

9.1 At what percent of full capacity did you operate last year

_(%)

9. 2 What would you consider to be a desirable "standard * or normal "
level in the future?

9.3 Was actual operation last year different from this desired level? |
(yes/no) - SO e e

Why? List reasons given (in order of importance) Y
oo - w-v/ b e <o e . s / e M,,t.‘........‘.,..,‘..l Ce e

B I e ML e e w6 an Nt Las R4 R 8 e L S N n . eee s e Dy

[ ARer hé's had time to respond on his 6wh , offer this list for his comment:
CAN"T SELL PRODUCT because of (a) recession () unexpected competi-
tion (c) price too high/quality too low (d) foreign competition; CAN*'T
GET INPUTS (ask which ones and why can't get). _7
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10 PRODUCT DEMAND VARIATIONS ot
10 1 How long can ycur product be ‘stored without serlous loss of value ,
from detericration? L (specify Hours, days, weeks or yeal

10 .2 Is the demand for you; ,gr_gd_ug_t falrly s_tgady throughout the year?
RS LR . (yes no s

10 3 If demand is mt sbeady'

10,31 By how much does the best week of demand exceed the average
week (%)

' 10,32 Ts there a pattern of demand changes, "do you know when to
expect peaks and troughs‘? : (ves/no)

10.33 If: 'vos ", what s that pattem (de‘scr!be)

o '10 4 Is domestlc demand more steady than éxport demand? e (yes/no)
(no difference) . -

o e et AL = o o Ay -

11. MARKET smirc:numa SR o E
3 ' : :
' 11 1 How many}'lomestic firms do you compete with in selling the product (s
(number) ‘

A A s

'11 2 How many are larger than your ﬂrm? — (number), smaller

12 FREE ASSOC]’ATION y

What are the reasons why the plant is not operated all the time? Days, . :f |

nights weekends, year round" —_— ‘
ouRME I TS 50 MY SR A N S &L whh
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R

W.1 WORKSHEET ('1‘0 be completed 1mmed1ately after interview)'
ENUMBRATOR'S COMMENTS' P

I -
R [ -
R
. ~
e o S e g e .
. N RY
- - . - g . ~i R Y ~
; T
. by
- - - -~ v L e e e - — D
. 2N
. ey ~
i Lt <
L U S S -
- - i + o
e e e s o e catmri -
¢
- e U e v s ot ot
P o . . . iroth e e e . [,
e Py e = e ¢ o : ST R !
1 5 A LGN e VA ER R owa : ERMGTRAS Do DS .
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W.2 COMPUTATION OF UTILIZATION RATE WHEN ALL OF PLANT OPERATES
SAME SCHEDULE (FILL OUT W,2* WHEN DIFFERENT SECTIONS-
OPERATE DIFFERENT SGHEDULES) R

a. Number of days per year IDLE (2 1)

" al Number of days operate per year 365 - (a)

" b, Number of hours idle on typical day 2.3)

¢. Number of Saturdays operated (2.5)

d. Hours of operation on Saturdays (2.6)

‘e, Yearly Saturday hours, (c) x (d)

f. Number of days operated __

other than Saturdays (365 - a - ¢)

g. Hours of ?peration on typical day (24 - b)

- h. Yearly n&n-;samrday hours (f) x (g)

i, TOTAL houré‘ of operation per year @)+ (h)

J. Percent utilization (i) = 8760 x 100 =

" k. Check: does R) +(c)+ () = 365?

n. Intensity of use

’o. Plant utilization == (§) x (n)
wW.3 CODE: A B C 'D F

W.4 CHECK LIST‘

C:j’ Enter ISIC number (s) in (1 1) (I necessary, re-check with
. respondent. )
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W,2* COMPUTATION OF UTILIZATION RATE WHEN DIFFERENT SECTIONS |
‘ OPERATE DIFFERENT SCHEDULES

a. Number of days per year IDLE (3* 1) | |

b, Number of hours 1d1e ona typical
day (3*.3)

Ce Number of Saturdays operated*(z 5) P ..;; -

d, Hours of operatton on Saturdays @. 6)

e, ,Yearly Satuzday hours, ,.(0) X (d)

£, Number of days operated

" other than Saturdays (365 ~a=-q)

g. Hours of operation on typical day
' (24 - b)

h. Yearly non-Satu:dag hours ) x (g)

e "
i. ‘I'OTAL hours of opefation per year ;.
(e) + ()

e Pencent uttuzauon(m < 8760)x 100 =

k. Check"does (a)+ (c) + (f) = 365

1. Proportion of the plant represented
- by this section (as %)

time (1) x (j) : 1 =
n. Intensity of we @) .o Ll ] \<
o. Plant utﬂization -~ Time and intensity A ! 2 |
’ =

Intensity (m)x (n) 3 R

-

* "Satm'days o If these part-day operations are not speciﬂcally mentioned
" as being different for the different sections, assume that all sections
oparam the same Saturday schedule -- answer (2 .5).

2 Represent sums of the separate secti_ons'.




APPENDIX B

!N§TRQCTION§ IO INTERVEWERS
CAPITAL UTE.EATION QUESTIONNA!RE

* ,..,'x ;

A This commentaly provides instmctions to enumerators in the survey
‘on’capital utilization. The questionnaire has been tested locally and it look
quite effective. It has taken petween half an hour and ninety minutes, depe
ing on the complications e tered. Most questions yielded clear and’
useful answers, but mev:ltably the enumerator will have to be sensitive

~ to and-very clear-about the objectives of the study; it will never be possi-
ble to anticipate 3]l problems with the questionnaire, This commentary is -
~ intended to: (1) provide specific instructions to' the enumerators and super-

- visor, and (2) not:e the objectives of the question, ambiguities to look for,
) ew.' .

¥

o : Talk to man closest to nmdnﬁﬂnn.mammem
possible. Note shunted off to clerk~-type without authority or to public

_relations-type seems unknowledgeable. Be conscious of the timing
of interviews,. Try to avoid tinies when the plant is not operating (lunch-
»tlmes ’ Saturdays etc.)

] ' ¢ Read the introduction exactly as
© 77 it 1s writtemn, - R-is important not to bias the responses ‘by explaining too
. much about the aims of the study.

C e C e et

L » | | ! | A : - . }"
1 . 13 ‘Pmductls: - H-, S . 4

LT [ Inmgngn;a “Fiilin-for the products produced by that plant

(not ﬂrm) . rm in ISIC number, later don't ask respondent. ,

T ——— “"“‘ﬁqh; Pmduct mformation 1s needed to classify the output of

T ""theptan't ‘B i3 rarely-unambiguous;— -Note on-the questionnaire enough
.. information to be able, later, to 1l in a four digit ISIC number for the
major ptoducts of ﬂle plant. Por niany plants, there will be some ,

SR “t

(RS HA Y
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problem in knawing where to stop disaggregatl.on. You should be t‘amﬂiar
-with the ISIC numbermg sysbem. See U N., ,

M/4/Rev.2, Sales e E.68. XVIL 8, New Y. 1968, or the more
detalled U N.. Indexes to the |

1. Sales No. E. 71 XVIL.8, New Yor, 1971.

L'z—w_ " - U IS I B }‘ DO oL N A P

R, W Gemplete as many of these measu:es as possible.
P SNoter Tt 1s assential that we have total gmmof the plant.

Ir it,,pmves botally fmpossible, note why it's impossible. Do ngf count.
construction workers engaged in plant expansion on a temporary basis.

- If there are seasonal variatiohs in employment ask for mmend ‘
mlmmum e;nployment at. any one time.. :

T Of the other 1tems, the value of assets is the most useful smgle
measure, but it may:; somethnes be very difficult to get.. lbplacement
value of the plant 1 ;referred Take also the book value.

. If a plant buﬂding-plus-site has eonvetted to new pmducts,
we're Interested in the date of that conversion as “first butlt®, The
“last major expansion” ‘in many.plants will have been - “gradual” - they
_wi.u have had no. single major expansion,. but by replacement and moderniz-
ing,-the plant.will-have been, signiﬂcanﬂv mocimed since 1:'& ﬂ.::st date,
If 36, note "gradual”.

P s e e Tor per Pt

. . N L1 ,v’ B T
PR O R T SR v Lo

. ‘< . 1 v ety ﬂ,r.,. N . . PRI R T e

- This 1s the most unpormnt single questton on the questlonnaire
It wﬂl ofhen not he.easy to-answer it first, but in a few minutes, the enu-

' meralnr can get a very good sense of how 1: should be answer.ed. "

- m:mms There are. really, two quesuons and t.wo CHECK
,QUESTDNS here that are designed simply to check the validity of the -
answer. So 2.1 asks how many days the entire plant was idle during
the year while 2.2 subtracts that answer from 365 and confirms that



theﬁkgt answe; made sense. : oo : .
4 oo e U wagd o i
In this and sqbsequent parts of question 2, "ID,LE describe
w@éegess of ALL production’ ‘in ALL PARTS of the-plant,’ "OPBRATION”
. destribes operation of any part of the plant. : So every:day (.and’ every
hour) will efther be a day (or hour) of operation, QR idlenessa -

Looking at 2 1and 2.2, a plant must either be idle during the
entire day (hence the day is counted in 2.1) or else some part of 1t must
be, oparated during the day (hence. the day is counted in 2.2). So the days
fully 1dle (2.1) plus the days of some production (2.2} “MUST add up to
365, Either question may be answered first - the respondent may find it
‘more natural to Sourit days of.operation (2.2) first; if so, usé the days.
of idleness (2.1) as the check (Ans, 2.1 = 365 = Ans. 2.2). Be vexy
sure this relationship is clear to the. respondent. s .

- The same check 1s done on the hours of idIeness d_udng the day.

2.3 asks how many houra the entire plant was idle. Question 2.4 agks
"how many hou,rs some part of. the plant was running They MUST add up
to twenty~-four hoqrs. (Ans. 2.3 +Ang,. 2.4 = 24 hours). | Cel i,

- Nota: I may be necessary to help the respondent focus on the
question - to help him realize that weekends, Holidgys-and-tiie idle for
- malntenance and gg_gag_are to be counted as _IQ_L_E_time if there is no oro-
duction activity. — T ot TR nt s n T
- Questions of variable intensity during operaﬂon (partial plant

operation, some machines idle, etb ) are addressed in question 3 below.
* Ma; ! BNance C K 4

. The assumption of this question is that the year is the longest ’
period over which regular, anticipated- rhythme WilI '&ffedt Etilization. -

L The “number of Saturd 7s operated " (Ptidays i some countries)
(f S) 1s already included in: "t6tal nimber of days operated in the year"
(2.1 and 2.2). We ask this separatély in case“the number of hours
~ worked on Saturdays (Pridays) is less than on a typical work day. Look
- 6ver the ‘questions in part 2" jnd the worksheet at the end éf4he question-
naite o make sure that you understand how these questions fit tOgether

.::r.;i . N
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. If the respondent is .cdhfﬁs.ed about what's meant by “the plant”,
you can-tell him it means "machine's" " or "equipment", '

-+ ‘This is an'important question for which there simply is no'way
to give an - "accurate” -answer, but the answers we do get will be very -
‘valuable. The answer must be'a "hunch" or informed guess by the =
respondent. He may answer on the basis of the numbér of machines or
the value of the capital stock or ... Even economic theory can't deal -
with capital aggregation in a precise way (Robinson/Solow, et.al.),
so managers won'‘t be ablé to either.  But, despite all those:well known
problems, something very useful can come from informed guesses = they ’
will give us.a rough and meaningful sense of what's happeriing. R

AW

 Noteg: Here you have to use your judgment, If all parts of the -
plant operate on the same schedule with regard to day's of operation and .
hours within the day, there will be no problems. But if different parts : -
(sections) of the plant operate different days/hours, you will have to
decide whether (a) tqtreat these as separate plagts (select the most
important plant to filj out the questionnaire) or (b) as separate sections
- within the plant (fillfng out questions 3*) reluctantly and rarely - (c)

~ ignore the differencd as being unimportant.

The criteria for these decisions rest on the relative importance,
thé number of such sections and how different are their schedules. ey
Generally, if there are two or three large sections representing roughly . .
equal proportions of the-plant, operating on quite different.schedules,.
then they must bé described separately, If; at the other extremé, most-
of the plant operates on one schedule but five or six sections representing
a small part of the plant operate differently, all should not be enumerated
separately - probably a two part enumeration will have todo.

~ The last alternative ~ ignoring the differences - is. to be avoided
unless clearly justified. - Information, once collected, can always be
discarded later;" but information not callected is lost.. So ignore ore or
two workers who are out of phase with major plant sections. (even if they -
are truly production workers), but don't ignore much more than that. .

. Instrictions: Take along extra sheets for qﬁest_ion 3* "énd f
in 9ae for eqch separate plant section considered.
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There may be no single pattern of wage: payments (6 . 1)’ for the

.whole plant., If not, note the variations (with rough guess of percentage
workers covered under each). You should be clear that, condeptually

at least, “overtime" is different from extra pay for the time of dav or
week, Overtime applies to a sifigle worker and is an extra-payment for

his working exira during a day or week. 'So a man will be paid overtime
~ for working e.g. more than eight-hours in a day; or more than 40 hours

in a week. Quite different is the additional wage.paid for working at an

undesirable time of day or week ~ for working nights or for workirig on -

a holiday or weekends or Sunday or .. This has nothing to do with the

amount of previous work the worker has put in., If you are clear on this,
you will be able to sort out the response. You should note any additional

variants on premium pay (like Sunday's with a 100% premium,. for instance) ,

Comments should be made in the margins if other interesting

information comes to light - for instance, if transportation is provided
only for night workers; training costs are the largest costs of hiring and
firing; etc; any information that would help explain why labor costs -
are higher at nigh# and on weekends and/or why it's expensive to hire .
-and fire workers. # T L e . . :

}

. " Youwill have to "lead” the respondent - using any information
~you may have about the industry and its inputs and asking-"Doesn‘t
cost less in the winter? ", etc. The manager will,. typically, be so used

to “what you 'have to' do" in purchasing, that he'll not see what's

'L.Q.thaLInp.u:g

Ceae

betig asked without some help. . Lo

AP

- The. purpose of this question, of course, is to-try to: tie into
the "capacity survey" questions that are traditionally asked by tha :
McGraw-~Hill survey etc. You should refuse to clarify what is meant by -
“capacity” and leave its interpretation to the respondent... If necessary,
- You can simply ask the respondent to answer as he would "if that ques-
tion were asked in a government survey of capacity utilization, "

‘i‘ £
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On 9.4, note any information that's useful. Try to retain a

" sense of which reasons he thinks are most important in explaining his
failure to gperate more, Don't lead -him, except to suggest that he con-
sider the list. If supply constraints affect his utﬂlzation, ask which
ones and why. : ‘

~ This could be the subject of a survey in itself so answers must
be unsatisfying. Note if product-loses value for reasons other than
deterioration (e.g., obsolescense in products where style or technology
is important). You ‘might also note, if they mention, whether plant pro-
duces against speciﬁc orders or produce for storage if g;ggx_s don't cover
production. e R .

Aeec :

Use'this if there are other things the manager ‘wantf' to say
about utilization - if he's.got his own theories or reasnns. Don't press
him to respond though. I 5 A

A

On this sheet are things to be done immediately after the inter-
view,

W,1 Comments
Your ideas or 1hs1ghts not captured on the questionnnaire. This

is a very important part of the guestionnaire. Do write out your impres- 4
sions in full detail. They will be extremely useful to us later. '

W.2, Compilation of the utilization rate,
W,3, Code
This is your gvaluation of the solidity, trustworthiness and’

informedness of the regpondent's angwers, which may well be helpful
in marginal or curious cases. Code should be: .
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APPENDX C
‘CAPITAL UTILZATION QUESTIONNAIRE CODIN lG

Column 1: This describes the country ln which the plant operates,

number is asslgned to each countzy o
1- Col.mbla

2 - Malaysia .

- 3 = The Philippines

4 - Israel

___Q),m_z, Thls column ldentiﬂes the plant for which the data is obtained,
A number beginning at 001 should be assigned to each plant interviewed,
It is suggested that the plants be ordered by groups:belonging to a four-
digit ISIC entry and that these groups be ordered following the ascending
ISIC numbers, This will simplify inter-country comparisons of the com-
puter printouts.

Column 3: City cqding. A number is assigned to the plant according to
the size of the c:lgr in which it is located. The definition of city should
.be based 6n'a "nfetropolitan area" concept and not on a political con~
cept, 1. 29 munl ipallty. The numbering given is the ﬁollawing°

1= Large clties (1, 000 000 population or more)

2 - Provincial cities (10 000 to 999,999 population)

3 - Rural (less. than 10,000 populat:lon) '

__h;mn_‘i’ Question number” 0., Date.

: Date of visit. Write the number of the month of the visit. (01,
06, 10, etc.) | !

___L_____Cd umn 5: Question number 0, “_(":"rradé;' Lo

“""Instead of the respondent's title and name, use the grading
assigned to the interview, The following numbers should be glven N
to the letter grade assigned: e T

. Ami, B-Z, -v-,C-3,'.;- D=4, Pés .
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leumn_ﬁ_ Question 1.1, ISIC

Write ISIC four digit number of most important product.

s ’1 .(_ BN

S R et S L NS N »2. T O - PO : S

Q_thm_l Question 1. l. Sales product 1.

R R Y

' Write percentage of. sales represented by the most important
products., Do not include decimals of a percentage point i.e., 26 8%
should be 27. .

Column 8: Question 9% I Exports product 1.

Write the percentage of output of the product described in
.. Column 6 which 1s sold abroad. (Iwo spaces as in Column 7)

__Qlunm_s_ Question 1 1 (as in Column 7 for second product)

Question 1 l fas in Column 8 for second product)

L

B T YO
L
[ B
M
V. L
" Yoo

Question 1 1 (as in Column 7 for third product)
Quqstlon L.l (as in Column 8 for third product)

~Do no code more- than three products. If there are. less than
three products, leave the corresponding columns blank (when there is

no data, the spaces assigned to the missing information should always
be‘leﬂ:fiir blank) : DT irEy e

Qgh;mn_l}_ Question 1.2, Total employees.

Write the total number of employees of the plant.

Y AL LN R LA T BT 10

ced i ideel L G
e e e

Lo .~,,»

Aly.mn_l_i' Question 1,2, Production workers.

| Write the number of total production workers of the plant. N

Sl 'x
s

-—M_lﬁ' Question 1 2, Assets. ; 1 i oL e

_ Write the book value of assets of the plant, This figure should
be given in domestic currency and could be rounded out tb the nearest
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thousand, ten thousand, etc. The number: written ghould not have more
than seven digits, It is very important to define clearly the units in~
which:the number is expressed. ' Extreme care. should be taken to avoid
mistakes in the magnitude of the values given.

, innmn_].ﬁ. Question 1 2 = Sales

Annual sales volume. As :l-n Column 15, but do not include more
than slx digits.

[T

_ﬂl.umn_]._z Question 1 2 - Value added R e T R o

Annual value added As ln Column Ié

Column 18: Question 1'2 - Cap:ltal

Capital value. Write the _"best " figure you have obtained which
reflects the replacement value of the plant. Follow the instructlons ‘of
Column 15, (Do ‘not exceed seven digits)..

Qqhmm_lg_. Questign 1.3 = Plant s age.

Date on v‘:.(ch plant was buﬂt. erte the last two digits of the
’ year in which the plant was built, :

lenmn_zg_: Questlon 1""3"'":’-"'>Plant"s expanslon.

Use the last two digits of the year during which the last major
expansion took place. When the expansion has been gradual, use the
number 75.

a-t:q-;' lnmn Z] Questionl 4 o Plant's owned

‘Write the number of ‘other plants owned and/ or operated by the
same firm,

__Q.lumn_zz, Questlon 1 4 - Same products?

i " Write ao when the plants dp_np_t_pmduce the samie" products,
~and a 1 when they do. "Leave blank ‘{f flguré i Column 21 is . ‘zero, '
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! Question 1. 5 - ownership. : RS

e L N L
o hen

Write the numbers ‘1, 2, 3, or 4 as indicated below: . ;

1. Public ownership .

2. Private ownership ... . .. .. -
3. Mixed ownership =~ TR
4. Labor Junion owned :

- 5, Kibbutz owned s
Column 24: Question 1,5 -'National.;ownership'.; ¥ i B
.' Write the numbers 1, 2 or 3 as.ndicated belows.
1. Domestic ownership
2, Foreign ownership _ R
3, Mixed ownership T

P

thmn_ﬁ. Quesﬁon 1. 5 - Legal Form. STRr e e

Write tlae number 1 or 2 as indicated below'

‘3 1. Corporation fioe .
} o 2. Other T : -
Col n 26: Question 1 6 - Management. - T
Write the number 1, 2 or 3 as indicated below: C o
| ‘1, Domestic |

qumg_z_z This column 1s left to be used at the discretion of the person '
directing the country study. It could be used to identify ‘the’ firms managed -
by an ethnic group relevant to an indtvidual country. PHlI.IPPINES~ '

. thmwe-. ;2'-.- Filipino, 3 ~American, 4 -others. e

_ﬂlnnm_zg Quest:lon 2 - Util:lzation percentage. .

il

_ (From W,2 in the worksheet. To be estimated when all the
plant sections work with the:same annual schedule. Leave blank where
there is sectional variation in:capital: utiuzation.) :
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erte the present utlllzatlon rate from j of W.,2. This rate
should include two decimals of a percent, l. €., 28 37. .

le.umn_zg_ Question 2. - Hours/day.
(Prom w.2 in the worksheet )

: erte the hours of operatlon 'on:a typlcal day’ from g of‘W, 2
This number should include one decimal i,e,, 8.0 or 7 5.

__Qmmnjﬂ Questionz - Days operated.

(From W,2 in the worksheet)

erte the number of days operated per year (c plus f ln W 2) .

_thm_al Question 3.1 - Intensity.

: Write the percentage of plant in use durlng operation from 3.1.
(Do not .use decimals of a percentage polnt )y oo ._

Column 32: Ques‘on3 2 - Sectlons.

Write a 0 if answer ls NO
Write a 1 1if answer 1s YES,:

. si e N

Columpn 33: Question 3,3 -~ Sections! schedule, = =~ .o
Ag in COlunln 32 o,

Column 34: Question 3* (For all coding of Quest:lon 3% use the wor!;gheet !

W, 2*)

erte the number of days operated per year 1n sectlon 1 (c
plus f incolimn 1 of W 2%,

Calumn 35: Question 3* Days operated Sec. 2.

AR Column 34 for section 2
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thmn,ji Question 3* Days operatqd Sec. 3

3 As m Column 34 for section 3.

_ﬂum_&]_ Question 3* Hours operated Sec. 1.

“~

Write the hours of operation of section 1 on a typical day.
g f:l::st column in W,2%, Use ong dec:lmal). < L

H

Qqhmm_ag_ Question 3* Hours operated Sec. 2.

R s

As in Column 37 for sect:lon 2.

Qghmm_zg_: Questlon 3* Hours operated Sec. 3.
As 1n Column 37 for section 3

ngm_gg_: Questlon 3*

Percent ;tilization of sectiQn 1. As :ln Column 28 but use
figure from §, first column, in W, 2%,

1

__glmn__l QueStion 3* Percent utilization Sec. 2.

As in Column 40, but for section 2.

_anmn,AZ_ Question 3% "Percent utilization Sec. 3,

As in Column 40, but for sect:lon 3

+ Column 43: - Questior 3+ :

Average unadjusted utllization t:lme. Write the ﬁgure in the
fourth column of ‘m i W,2*, Include two decimal points.

i

Column 44: Question 3*

Intensity of use 1n section. From W 2%, n first column.,
(No decimal )

I3 A0 PSR 28

- -
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Column 45: Question 3* Intenslty of use Sec.z 2. ; ,_., R
As in Column 44, but section , |

Column 46: Question 3* ‘Instensity Sec.‘3- v '. o
As in Column 44, but section 3..‘ - |

: ggm_u Worksheet.

Time and intensity utilization rate. erte the figure in the
fourth column of row 0 of W,2*%,, (Two decimals), or multiply: the
' figure in column (28) times the figure in column (31)

Column 48: Question 4, 1 - More/ less operatlon. “

iyl
Write a number as 1ndicated below

O-No
I-Yes

R T R T
Cliachi LAkl Mol

- Column 493 Questlon 4,2 - More-Month (Note: Cglumns 49-58
should be 00 ?Column 48 1s 0). B

Write the number of the month of the year (01, 08, 11, §tc.)
Column 50: Question 4.3 - vDays/_wjbe:elic -

Write the number of daysdg week of work 1ncluding one declmal
flgure f.e., 5.0,5,5, etc.

Column 51: Question 4.3 - Hours/day . Sy

Write the number of daily hours of work,. including one decimal
ﬂgure f.e., 7.5, 9.0, etc, ' - B

Write 0 for NO - & = %= L .
4 Wr:lte 1 for YES o |
Cembooiroslo oV momur ey LUovs Lo
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~ Column 53 Question 4 4 - How many. __v
erte the number of months, 0, 2, etc,
Column 54: Question 4. s -~ Less-Month.

As in Column. 49

IRt PSR AR ¢ B
A g

- Column 55: Question 4.6 - Days/week

As in Column 50.

E

As in Column 51,

GO LnR0n - T s U iDLt
Column 57; Question4 7 - More~Months ‘

As in Column 52

Column $8: Question 4.7 - How many,
E As‘in}'ciaiixmn 53,00 T

: Colgm n 59: .Que'stion 4.8 - Shut down? . _ SEEE I

Write 0 IfanswerisNO T
Write 1 if answer is YES " co I i

© ““Column 60:" Ouestion 4.9 - éosﬂ?? } .

Write 0 if answer is NO A o !
Write 1 ifansweris YE§- . = - T e

©olunn 61 ‘Question 5,1 - Work day,

Write the number of hours of work per day. ©ne. decimal,)

NQFA BTN

Qanmn_ﬁz_ Question 5, 1 - Work week,

Write the number of hours of work . per week (No decimals,)
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, gglgmg_ﬁ_&. Question 6.1 - Wage payments.

Write a number 1, 2, 3, 4, or.5 if the workers are paid:

1 - by the hour

2 - by the day

3 - by the week
- 4 - by thelmonth

5.~ by picework

_ngmg 643 Question 6 2 - Wage.

- Write the wage-level in domestic currency. Round up to limit
the figure to six digits. Write a'dash and a number,’1, 2, 3, or 4
~after the wage to indicate if this is an hourly, dally, weekly or monthly
wage. For example, if the person makes $205 per ‘week, it should read
205 =3, (Youcan choose the number of decimals needed in each
country, as long as you keep a consistent coding.) ' '

lgm 65: Question 6.3 - Night shift differential"

”v’rite a :0 {f enswer 1is NO for night work and a’ 1 for a
positive answer } . . ; L

Column 66: Question 6.3 - Amount,

If Column 65 is a 0, leave blank.

If Column 657is'a 1, write either the amount in donestie -
currency or the percentage. Do not exceed four digits. If night wage
wrii differential is expressed s a percentage, -write- a dash foltowed by a
~pumber.. _1. - If4t is expressed in- currency, write a dash foliowedey a
. number 2, For example,.-a "35%  night differential should'read 35~ 1,
while a 6,50 differential should read 6, 50 - 2

C 67: Question 6. 3 Week-end work

E

As in Column 65

Column 68: Question 6. 3,,-_Weekepd work -Amount

-

As in Column 66.
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Column 69: Question 6.3 ~ Overtime
As in Column 65. |

Question 6,3 - Overtime - Amount,

E

As in Column 66,

Colump 713 Q’uestion 6.4, I-‘ood:?“
Write a 0 if answer is no and a 1 for. yes.

szmn_zz_ Question 6 4 'I‘xansport?
As 1n Column 7L. e

' QQLumn_Za: Question 6 4 - Medical?

"Asg in Column 71.

Column 74: Ques;ion ;6.4 - Lay-off taxes or costs?
 As in Cqlumn 71. ‘
Column 75: Question 6.4 - Other?

As in Column 71* o .
_ggmm_z_s_- Question 6 4 - Fringe beneﬂt costs. ,
» Add all the costs. 3 they are expressed as a percentage of the
wage rate, write a'dash’ and a number 1; if they are expressed in cur- .
rency, write a dash followed by 3 number 2. !
g]umn Z. Question? 1« Day worker’s. .
Write the number of workers during a typical day shift.

_.gl.umg_z,& Question 7.11 - Night workers.

Write the. number of workers during a typical night shift, - - -
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Column 79: Question 7,2 - 3hift output.

Write a number 1, 2, 3, or 4 if the output per man-hour is:

1 - higher during the day

2 - higher during the night ‘
3 - about the ‘'same for both. ok
4 - does not operate night shift.

Column 80 Question 8.1 - Imported inputs.

Add the percentage of total inputs and write it down in this
column, Do not write decimals "

Q_gLumnj_l; Question 8,2 ~ Price change. e o il
' Write the percent price change of the first input, '(No decimals.)
Column 82: Question 8,2 - Percentcost, .~ .~ " _m.

Write the pgrcent of total production costs represented by the
first input. (No degdmals.)

Qﬂum_&&, Quesu n 8,2 - Price change.

> As in Column 81 - second input.

Qo_lm-_%_: Question 8.2 - Percent cost.

o

As in Column 82 - second input,
NOTE: In Columns 81 -84 write zeros when appropriate '
Colump 85: Question 8.3 = Unavailability? .

Write a 0 if answer is NO and a 1 if YES
Q.anmn_&ﬂ Question 8.31 - Shut down?

: Leave blank if column 85 is zero, Write a 0 if answer is NO
and 1 if answer is YES
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]

Questjon 8.32 ~ Inventories ?\
- As in column 86. . | “ |
" Column 88: Question 5,1 - Gapacity.
Write _‘the perg'ei;;t;:tg:'e'_;‘g’f capacity No decimals.
Column 89: Quéstion 9.7 « Norial week.

Write the number of hours. (No decimals.)

Column 90 Question §.21 - Full Capactty?
| Writea 0 if NQ.a' 1 A YES. S TR
~ Column 91: Question 9.3_-_,',Expect desired?
As in Column 90. . S S b

Column 92: Queption 9.4 - Causes.

. If opergtion was 100% of the desired level do pot write anything
in this columin, § If production was different from the desired level, write
up to four of the numbers 1, 2, 3, 4, 5, 6, and 7 assigned to the
following possible causes: : : . L o '

1 - lack of demand. =

2 - lack of imported inputs
3 - lack of domestic inputs
4 - lack of supervisers

S - lack of skilled labor
6 - lack of working capital
7 - other

These numbers should be written in order of import_ance.

Columpn 93: Question 10.1 - Loss of value.

Write the number of hours, days, etc. , followed by a dash,
and a'number from one to five. according to the following list: 1 - hours,
2 - days, 3 - weeks;- 4 - months, 5 - years. If the answer is “inde-
finitely"” or "very long", write only a dash followed by a number six
(-6) .
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Colump 94: Question 10,2 - Demand stable ?

Write a 1 if the demand is steady and a 0 if it is ggLsteady.

Column 95: Question 10, 31 - Demand change.

Write the percenmge of change. Write a0 if answer to 10,2
is "steady'demand”. Do not include: decimals of a percentag&point.

Column 96 Question 10.32 - Expect pattern?

, .. Write a_ 0 if the answer to 10.2:1s. 'not: steady", aﬂd 1he
" answer to 10.32 is N’O .

. Write a 1 if the answer to 10.2 is ‘not.steady", and the
answer to 10.32 is YES 5 AR

Writea 2 if theﬂ ar‘is'wer to 10.2 is_steady".

_Q.Lumnﬁl Question 10 33 - Time variations.

Write a )’01 if answeér to 10 32 is NO- leave blank if column
94 is 1: 3 _

o j 1(1 - if variations are weekly
‘ (2 - if variations are monthly
Write (3 - if variations are_quarterly
" (4 <1f variations are annually
(5 - if other

Column 98: Question 10 4 - Domestic more stable"

(o - if answer is NO
W (1 - if answer is Yes
rite, (2 ~ if answer is - "No difference"”
- {3 = if non-applicable

E

Question 11.1 - Maikét Strudttiife.f”

(1 - if answer is 0 (Monopoly)
Write. (2 - 1f answer 1s 2 to_7 (Tight oligopoly)
- (3 - if answer 1s 8 to 20 (Loose oligopoly)
(4 - if answer is 21 or more.
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- ‘Colum g‘]QQ : Question 11.2 - ‘La:"ge-r Firmo.

Write the number of larger firms.

Qnm_m_;_. Question 11 2 - SmallerPims.

Write the number»o_,_f_g _sm-a-ller fims;:: .

NOTE: .In Columns: 100 and:101, write the number 9999 when the answer
is "many", R s T

Column 102: -Annual cost of owning capital (in pesos)
(30 - 34)

Q_Ql_umg_m: Dumny variables on product-end use
(36 - 38) :
: Xy =1, if products are consumer good‘ S

= 0, 'if not -consumer, .goods

! Xy = 1, if intermediate goods
1 - . =0, :_if,not intermediate goods

X3 'l,if capital goods
=0, if not capital goods

Column 104: Dummy variables on market $tructure
- (40 - 43) . e
'Yy =71, #fColumn 99 is 1. T
= 0, if Column 99 is not 1 : 1

o Y =1, Af Column 9915 2
20, 4f Column 99 1s not 2

Y3 = 1, 1f£ Column 99 is 3. T
" =0, if Column 99 is not 3 = st

Y "= 1, ‘if Column 99 1s 4
. 0, if Column 99 is not 4
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Dummy vmable_on, BOI m.s B -,,:‘..,-_ ”.... ...A.,:..,
Somn 105 P T

( A w 1, if BOI firms
Z =0, if non-BOI firms

NOTE: Numberc in paretheses underneath Columns 102 - 105 indicate
gard column numbers in the sixth data card for each establish-
mem:. “The' ‘format for'Columns 1-101 -also requires one blank -

card-column separatiog-each: "bit! ¥ - 5§ informations Aﬂ----
ﬁgures, except those in Column 92, are pjght justified.

" i
1 o
[ -
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